
1
afn Snj ;xof]u sfo{qmd 

   200,000.0 

2 ;/;kmfO{    150,000.0 

6 afnd}qL sfo{qmd    200,000.0 

7 ps[i7 afnSnjsf nflu k'/:sf/     50,000.0 

8 afn k|ltof]lutf    100,000.0 

hDdf    700,000.0 

1 k/Dk/fut k]zfnfO{ cfw'lgsLs/0f ug]{-dfudf cfwfl/t_    350,000.0 

2
ljkGg h]x]Gbf/ blnt 5fqj[lt - k|fljlws lzIff _ 

   150,000.0 

3 s'v'/f kfng cg'bfg    100,000.0 

4 a+u'/ kfng cg'bfg    150,000.0 

5 s/]zfaf/L k|j{4g sfo{qmd     50,000.0 

6 d]nldnfkstf{ tflnd     50,000.0 

7 jfXol/ª tflnd / k|ljlw x:tfGt/0f    150,000.0 

8 ;/;kmfO{ ;DaGwL hgr]tgf sfo{qmd    100,000.0 

9 pbfx/0fLo sfo{ ug]{ blntsf nflu ;Ddfg     50,000.0 

10 ;+:s[tL ;+/If0f sfo{qmd    150,000.0 

  1,300,000.0 

1 ckfËx?sf nflu dfudf cfwfl/t ;Lkd'ns tflnd    200,000.0 

2
ckfËx?sf nflu ;fdfu|L ljt/0f  

   200,000.0 

3
c;fxo ckfËx?sf nflu 5fqj[lt k|fljlw 

   200,000.0 

hDdf
   600,000.0 

1 :jo+d ;]jf kl/rfng    100,000.0 

2 v]ns'b ljsf; tyf ;fdfu|L ;xof]u    150,000.0 

3
sDKo"6/ tflnd 

   150,000.0 

4 ;/;kmfO{     100,000.0 

5 j}b]lzs /f]huf/ ;DaGwL     50,000.0 

6 j}b]lzs /f]huf/ af6 kms]{sf o"jfx?sf nflu k'g{:yfkgf    100,000.0 

7 pTs[i7 o"jfSnjx?sf] ;Ddfg sfo{qmd     50,000.0 

8 nfu' cf}ifw tyf b'j]{;g ;DjlGw tflnd     50,000.0 

9 ;fj{hlgs hUufdf o"jf ;fem]bf/L u/L j[Iff/f]k0f sfo{qmd     50,000.0 

 nlIft ju{sf sfo{qmdx? 

o'jf ljsf;

ckfË

blnt ju{ pTyfg

afnaflnsf 

qm=;+= sfo{qmd÷cfof]hgfsf] gfd ljlgof]hg ?=



   800,000.0 

1 h]i7 gful/s ;Ddfg sfo{qmd     50,000.0 

2 cGt/k':tf cGt/lqmof sfo{qmd    100,000.0 

3 h]i7 gful/s :jf:Yo sfo{qmd    150,000.0 

4 c;fxo h]i7 gful/s vfBGg ;xof]u sfo{qmd    100,000.0 

5 h]i7 gful/sx?sf nflu jfBjfwg ;xof]u     50,000.0 

6 h]i7 gful/s ldng s]Gb| ;xof]u     50,000.0 

7
h]i7 gful/s / ljleGg If]qsf ljlzi7 JolQmx?;+usf] k'g{ldng 

sfo{qmd

    50,000.0 

hDdf    550,000.0 

1 xf]d:6] k|j{4g sfo{qmd    200,000.0 

2 KnlDjË tflnd / k|ljlw x:tfGt/0f    150,000.0 

3 jfXol/ª tflnd / k|ljlw x:tfGt/0f    100,000.0 

4 ljkGg h]x]Gbf/ cflnjf;L - hghftL _ 5fqj[lt - k|fljlws lzIff 

_ 

   150,000.0 

5 s/]zfaf/L k|j{4g sfo{qmd     50,000.0 

6 ;/;kmfO{ tflnd    150,000.0 

7 afv|f kfnkg cg'bfg    100,000.0 

8 s'v'/f kfng cg'bfg     50,000.0 

9 df]jfO{n ÷ l6=eL= l/k|m];/ tflnd    100,000.0 

10 j}b]lzs /f]huf/ k|j{4gsf tflnd , sf/k]G6/    150,000.0 

11 d]nldnfk tflnd     50,000.0 

12 ;+:s[tL ;+/If0f sfo{qmd    150,000.0 

hDdf   1,400,000.0 

1 crf/ jgfpg] tflnd    100,000.0 

2 df6fsf u/uxgf jgfpg] tflnd    100,000.0 

3 k'ik Joj;fo tflnd    200,000.0 

4 Jo"l6l;og l/k|m];/ tflnd     50,000.0 

5 9fsf j'gfO{ tflnd    150,000.0 

6 lqm:6/ dfnf lgdf{0f jgfpg] tflnd    200,000.0 

7 u'l8of÷ v]nf}gf jgfpg] tflnd    150,000.0 

8 l;nfO{ s6fO{ tflnd    300,000.0 

9 l;nfO{ s6fO{ l/k|m];/ tflnd    100,000.0 

10 ljkGg h]x]Gbf/ dlxnfsf nflu k|fljlws lZfIff 5fqj[lQ    150,000.0 

11 d]nldnfk tflnd    150,000.0 

dlxnf ljsf;

cflbjf;L hghftL

h]i7 gful/s



12 j}b]lzs /f]huf/ ;DjlGw hfgsf/L d'ns sfo{qmd    150,000.0 

13 Rofp v]tL tflnd    150,000.0 

14 dlxnfhGo /f]usf] nflu lzlj/    350,000.0 

15 s/];fjf/L k|j4{g sfo{qqmd     50,000.0 

16 ljkGg dlxnfx?sf nflu s'v'/f kfng cg'bfg    100,000.0 

17 ljkGg dlxnfx?sf nflu jfv|f kfng cg'bfg    200,000.0 

18 j]l;s sDKo"6/ tflnd    200,000.0 

19 ;/;kmfO{ ;DjlGw hgr]tgf    150,000.0 

20 lbj;Lo sfo{qmd    100,000.0 

21 n}+lus lx+;f lj?4 cleofg    150,000.0 

22 KnlDjË tflnd / k|ljlw x:tfGt/0f    200,000.0 

23 xfp; jfol/Ë tflnd / k|ljlw x:tfGt/0f    150,000.0 

hDdf   3,600,000.0 

s'n hDdf   8,950,000.0 





p


